CHINESE
PAPER—II

Note : This paper contains fifty (50} objective-type gquestions, each guestion carrying
two (2} marks. Attempt all of themn
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L. & F (Choose the corsect one amony the four given clues againgt each questiony
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1. 3832 (Fill in the blanks with the help of the chues given below) -

1. BHPENAEEAEFN-NEOIE (ZEEYY o KD .
ity B o
A BREEEET B I C. R IR -

12, PEB—XREAENMRZLE AEEEAAD, @
A. 1949 B. 1932 C. 2004 . 1982

13, b ESFAMA GBS R SRR .
ALELE B =B C. B D. -7&0

14, hEHEHRR . .
A RER B. C. Fre; @Eeﬁ“

15, “H|PpEKSTR” NEATE 4
A= B. B C.Jll%, L[ T #
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23, M™% B,
A, fa B. C. D i

28, AU BN .
A B. i C. & D.¥

25 ERER . m. BARan.
A B. K C. M D. iI

O

M. W (Choose the correct anawer) : O
26, THELE “HRART ST IREREER4?
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34, (XFH) B4 HBHORW?

A, g B. I & C. ol D. 8 #

15, “EKMET=TH, SERRAEILE" KaEiSnia?

AR B. % C. #H . &8

1V. 3% (Choowe the corvect sentence) @
O
A IBTEETREIF R,

B. A4 B fF7 EiE

C. 4 RFLE LS, ¢

D WERTE g E. @

37,

A, K dE0STT B LS T @,
B fbiF 205 KA 25T,

C. W R % T

D. ol AR |25 T

38, @

A IS fr 4 tasEth.

AR IE A LR B,

B. b E O MR,
C. B mer oL B .
D. Fx1 8 L4L L N,
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V. £ #F (Tick the odd ones ont) -

41. A ELJE B. & & C. BiiR D. &g
42. A TEiZ B. IR C. T4 D. ERTH*
43. A do B. MK C R D.

44, A BiE D. #AiF C. EhEG l
45. A KK B. X% C hEHR Gﬁ%{ﬁ
6. A S99 B. &F I, c.a2{y ® D EAK

Vi, EGR (Match according to complementarity): 0

47. BLE A b @'
48. P B. & \

49, EHERY, C. &5

50. % B D A6 @
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